p. 105 13-16
Sketch the graph of the derivative given the original function
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* Sketch the graph of a continuous function f
\VithﬂO]'"land [L 1{-]}
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* Sketch the graph of a continuous function f
with f(0)=1and T
- f(x)= [P }
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n1368
The number of gallons of water in a tank t
minutes after the tank has started to drain is
2(t) = 200(30 - t)2, How fast is the water
running out at the end of 10 minutes?
2'&)="40o {:'ftf:- {\\)
17 f A\
=] (_arh = =4bo \30-10)
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2'(\0)= -uoo(20)
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The number of gallons of water in a tank t
minutes after the tank has started to drain is

2(t) = 200(30 - t)°. What is the average rate at
which the water flows out during the first 1
minutes? >

a(o)= 200(35) = 200(00) = LBOOOO

2(10) =280 (" = 20(yep)= 80800
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a. When daes the particle move forward? Move backward?
(0,) (57) ‘orwerd

(l, 5)  MSackward



a. When does the particle speed up? Slow down? .
(‘11‘ (SL) ‘Wﬂt’-‘*'{' Vi) wu,.ﬁf-um';--ms

(o) @,5) (1) sl dow
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b. When is the particle’s acceleration positive? Negative? Zero?
(3,&) o

62y (1) aH4°
{23y (1,4) «€)=0
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©. When does the particle mave at its greatest speed?
VO T furvherh away Eram x-anis

£=0
(2,3)




d. When is the particle at rest?
f""i.sl (‘?,‘0
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a. When is the particle moving to the left? Moving to the right?
Standing Still

(ot
wh (L) (3.‘5§+$m.\, (S
+ (2,3) 5¢)



b. Graph the particles velocity.
o,y m=1 (34) m=0

(L) m=0O

2.3y m=-4 (5.6 m=-2




b. Graph the particies speed.

(65)) sed=2  (38) spesd =0
(2) spesd=0 (s, ) ,’_Jr.:;}_
(,3) speed=Y




. When does the particle reverse direction?

starding G gl =0  ¢- 8,2,7,\0
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b. When is the body moving at a constant speed?
Speed 15 3 Ham (36)







d. Graph the acceleration, where defined.
(cilﬁ ath)=3 (¢.8) ad=3

(1,3) )3 (8,15\ ‘u\-;—%:—l,'i
(3,8) ated=0C
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 - 3t + 2, where is measured
in meters and t is measured in seconds.

a) Find the displacement during the first 5

seconds. ‘\
sey= L 122 =0 pmelers
2 i
s{s)= 5 =15+2=] F

€nd Sl T
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 - 3t + 2, where is measured
in meters and t is measured in seconds.

b)  Find the average velocity during the first 5

seconds.

(o)~ a.dg;le\ni-."g 2% 10 _ 2 wfsec

ﬁf‘,’h = AL 95— 9
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 - 3t + 2, where is measured
in meters and t is measured in seconds.

c) Find the instantaneous velocity whent =4

v )= Q-3

v(a)=§&-3 = m[sce



p13719a-¢
* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 = 3t + 2, where is measured
in meters and t is measured in seconds.

d) Find the acceleration whent = 4

ele) = ™|set
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 - 3t + 2, where is measured
in meters and t is measured in seconds.

e) At what values does the particle change

direction _, \
vt = 243 & 15
O= 263 vy =2)-3 40 s4) kb
‘:?::_JH;'\ ‘rm:.i'h'}-fp S0 Stt) [ignt
N
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 = 3t + 2, where is measured
in meters and t is measured in seconds.

g) Describe the motion
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* The position of a body at time t sec is
s =t — 6t + 9t meters. Find the body’s
acceleration each time the velocity is zero.

&)~ €= 2%+ A(J:\I= L{' od &
=4 +3 o) = 6l13-12=-b mls
[£—2 X5 ! ﬁ(j)"“ {,{j}'ll"‘ b m|



P 156 Q0 &4
* A particle moves along a line so that its
position at any time t > O is given by
s(t) =-t? + t + 2, where s is measured in meters
and t is measured in seconds.

a) What is the initial position of the particle.
5 {'nj - :’.
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* A particle moves along a line so that its position
at any time t > 0 is given by

s(t) =-t? + t + 2, where s is measured in meters
and t is measured in seconds,

b) Find the velocity of the particle at any time t.

vig)= A<+
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* A particle moves along a line so that its position
at any time t > O is given by

s5(t) = -t? + t + 2, where s is measured in meters
and t is measured in seconds.

c) Find the acceleration of the particle at any
time t.
v be) ==k +

: T
a (€)= ~& miee
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= A particle moves along a line so that its position at any t>0
is given by s{t) = <t7 + t + 2, where s is measured in meters

and t is measured in seconds.
d) Find the speed of the particle at the moment when s{t) = 0.
o= W GTE. vie)= 24 &+ |
— 1—. =
o=t%%t-1 v(a)=20) +!

0=(<-2) [£+1)

&Y

)= 3mfeec
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* Acurve in the xy-plane is defined by xy* = x% =
i e by xy'=x¥y =6

X6l 4 § -]}?243[’!’)] o
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* Acurve in the xy-plane
- - Is defined by xy® = x¥y =
mmmmumm:vu;mmm

curve with x-coordinate 1.
w:; -u'r*’n;‘-’ 3y 6, 40,2
T dey 92321 ) Ml
g gy ete 5 o fmez
(5-3¥5+ﬁ'—'—0 - m‘:-lg
y=3+6(x1) | m=2

3:} oj':":l b‘.'ﬁ
(3] [
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* Acurve in the xy-plane is defined by xy* =x*y = 6
c) Find the x-coordinate of each point on the curve where the

tangent line is vertical. xnl- ,,}3:_ b
dﬂ s un etined ¢ LT
A ) -Ylg)= ¢
=0 'y 5

X
2!’.5—! =b/ "I
3 o
'2.1.5':.1 lb-:?..d; g 6
w22 o od 4 Ty
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* Find dy/dx of the curve and the slope of the curve at the
indicated point.

(x=1)*+(p=1Y =13 (3.4)
26-1) + 23Dy = 0 d -1 -t
239 + 1(%—%‘3&33 =0
'S

4 + &by o
x

G-
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* Find dy/dx of the curve and the slope of the curve at the
indicated point.

(x+2)+(y+3)'=25 (1D
2led) ¥ ANy 0 b= By
ax
20160 vaf243)dy - £ -4
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* Find where the slope of the curve is defined. 19.;"' u)-:‘ L

Xy-xi=4
K"%+ ) "[a. 33%!‘ 4..5"3 -0

W oSy — Dy =0
%‘L* e “5% 3 ds=p Sl vad

" =y Ly
" t'M%lx e y ;:_5:1:?)
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* Find the lines that are tangent and normal to the curve at the

point (2,3) [113) lﬂ'—:"
x+xy—yt=1 "
— 2 (»-2)

savgis

x4 t%?:..j _23230
4 4-3%314-3 -f-%?"-o 355‘%(.1‘3:’
7 _q%?‘-:.o

_ Ydu
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* Find the first and second derivative of the following

s _ aly=62
FEE it

:;-&&»5%:0
X+ 5%‘;: o

s‘* ==X




* Finddy/dxit _ X+sin(xy)=y

| 4yosfuy) = ?ﬁ & 1:0:(\-5\%
e = B (1ot




p.2422 Use Uhopitals rule to find the limit

lim sin(5x)
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s2026 Use LU'hopitals rule to find the limit

S 1-sin(x) _ o
H;l+cus(2x) o
-'.,rl'p -cm(!ﬂ\i :_D_
k"ﬂ{ -Ji'm[h\l o
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sp228 * Use L'hopitals rule to find the limit

. X -4x+4 O

=2 0 —12x+16 ©

2w 22-% _O
=L 3,}41 O




p24218 Use L'hopitals rule to find the limit

. S5x?-3x =
lm —— = =
e Txt +1 o




p24227  Use L'hopitals rule to find the limit

5
fion F ) _ &
L x o
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k= K‘; e . e



p20235  Use L'hopitals rule to find the limit
hm—082% _ . o
= log,(x+3) o
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